stress test

1. o3 35 A 23 Yz Uiat g2 shue? (H,

a#%0,b£0)

D a*xa*xa @ a'® =~ a2

® (a®)® = ab @ (aP0?)? = (1P)?
® (a%)?

O 42+ 2y @ 422 — 2y
® —4z? — 2y @ —42% 4+ 2y
® —42? + 2zy

3. z=2,y=-3%L 0, 2z+5y— (3y—3z) = A3}
H?

-8 @-4 O1 @ 2 ® 4

4 (o+aP —a?+bo+0 Dl a—b o G Fololeh
(F,a>0)

5. 27537 =3° A o no ZHe?

BA

-2 ©@-1 ®0 @ 1 ® 2

572 254 Hoto] A2 2k 59 ABAFOR ekl
AL

D 5°+25 @ 5% %25 ® 57

@ (55)2 @ (55)25

3 1 1
O -t = o @~ - o
1 3 1
@ 5@2—104 @ 5@2“"1&
1, 3
@ 5(1 _Z

o= As AANE W, o o A7t 7P 2 A2

@ 3z +1)2 @ 3z —1)2

® Bz —1)(z —3) @ Bz +1)(xr+3)

® Bz +1)(3x—1)

A o, (2ab)? x (—12ab®) + 3a?b 2

® 3 @ -3 ©®¢6 @ -6 © 12

10. (zaybze)n = 228y12,70 & QrEoh= A4 n 9 Fhol

A wf, @ + 2b — ¢ ] FEE Fotefet.




11.

212 5 513 .2 8 22 o] 21| Fatole)

12. B8 % A Wi} £ e AL
© (~201) x (30)° + (69 = -

13. o AR F $2 2

@ 14a? + (—2b%)? x (2ab?)? = 14a*
2

2
® (%az) X (362)? + (dab?)? = =

@ (10a)? x (—ab®)? ;(—wb?) = 25a?

® (—4z?y) + ( > (2zy?)3 = 48x5y°

o

RE TE2HY

® —(a—5b) =a+5b

@ —a(-3z+y) =322 -2y

® 2z(3z — 6) = 622 — 62

@ 3x(2z — 3y) — 2y(z +y) = 622 — 1lzy — 29>

® —z(z—y+2)+3y2r+y+4) =
—2? + Ty — 22 + 3y? + 12y

15 11 1
— — 11 1 =
s @235 © @15 © 3

16. 52 -2y = 4o +y -3 L W, 520—-2y+5 5 = °
T Aoz vehfolet,

17. o 87 § &2 31& B 12 2127
o
Q@ 81 =212 © (-25)% = 58
© 278 =31 © 645 — 230
@ ®’ @ @ ®a @ @ @, @
®6®e ® 0,6, e
18.

4oy — 82242 o )
Bo(a—y)+ — o & ] B ), 22 ]
52y

Adg Fotofet,




19.

X

2(6x—8)—3x:Ax2+Bxﬂ'Z
2A + 3B 9] g5 kit

§(6 — 3x)

o
£

20- 01y (54 1) (24 2) (004 L) = 20n0

A F g a, b F ab 9] A2?

1 1 1
® - @ - ® -1
1 1
RIT; © -5

21. (z—4)(x—2)(x+ 1) (z+3) — 25 = Az? + B3 +

Cx?+Dx+EYL W, A+ B+C+ D+ E9 3=
L5HH?

-2 ©®©-1 OO0 @1

22, (“1) 4+ (12 (=13 4 4 (=1)209 4 (—1)200 9]
22
@ —2003 @ -1 ® 0
@ 1 ® 2003

23.

1 _
2n = A 3" =B o, - x 27" + 6" A, Bol I3t
Aoz Uehd Z2?

B3 B4 B2

o -5 o -2 o7
B4 B2
® = ® T

24. (205 30 % 59)™ — 25 % 312 520 9 ], 1y O] Z|HZES

Fotodet (P a, b, ¢, m = A

25. (¢+A)(x+B) £ AMSFAEY 2+ Cr+8 o] H3ck,
SFCogol DS Qe ALY (F 4 B CE
g%olth)

-9 ©@-6 O3 @ 6




